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Notes for Question 5
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B1: States j Jxdx with or without the "dx'
4
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M1: Integrates Jx to give Ax?; 1#0
Al: See scheme
EN 3 3
Note: You can imply B1 for {}sz } or for Ax92 — Ax4?
4
9 3 9 9
Note: Give BO for J. \/; dx — J. \/; dx or for .[ \/; dx without reference to a correct J. \& dx
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. . . 38 2

Note: Give B1 M1 Al for no working leading to a correct Y or 125 or awrt 12.7
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Note: | Give B1 M1 Al for j Jxdx =5 or 127 or awrt127
4
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Note: Give B1 M1 Al for gxz +Cc | = £y or 125 or awrt 12.7
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Note: Give B1 M1 Al for no working followed by an answer 3 or 125 or awrt 12.7
Note: Give MO AO for use of a trapezium rule method to give an answer of awrt 12.7,
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but allow B1 if I JXdx is seen ina trapezium rule method
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Note: Otherwise, give BO M0 A0 for using the trapezium rule to give an answer of awrt 12.7




Notes for Question 5 Continued
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The following method is correct:
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So, lim Y VX 6X = Area(R) = (3x9) - (2x4)_Q
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